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GENERAL INSTRUCTIONS 

1. All questions are compulsory. Each question carries 1 mark. 

2. No cell phones, calculators, books, slide-rules, notebooks or written notes, etc. will 

be allowed inside the examination hall. 

3. You should follow the instructions given by the Centre Superintendent and by the 

Invigilator at the examination venue. If you violate the instructions, you will be 

disqualified. 

4. Any candidate found copying or receiving or giving assistance in the examination 

will be disqualified. 

5. The Question Paper and the OMR Response Sheet (Answer Sheet) would be 

supplied to you by the Invigilators. After the examination is over, you should hand 

over the OMR Response Sheet to the Invigilator before leaving the examination 

hall. Any candidate who does not return the OMR Response Sheet will be 

disqualified and the University may take further action against him/her. 

6. All rough work is to be done on the question paper itself and not on any other 

paper. Scrap paper is not permitted. For arriving at answers you may work in the 

margins, make some markings or underline in the test booklet itself. 

7. The University reserves the right to cancel the result of any candidate who 

impersonates or uses/adopts other malpractices or uses any unfair means. The 

University may also follow a procedure to verify the validity of scores of all 

examinees uniformly. If there is substantial indication that your performance is not 

genuine, the University may cancel your result. 
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How to fill up the information on the OMR Response Sheet 

(Examination Answer Sheet) 

1. Write your complete Enrolment No. in 9 digits. This should correspond to the 

enrolment number indicated by you on the OMR Response Sheet. Also write your 

correct name, address with pin code in the space provided. Put your signatures on 

the OMR Response Sheet with date. Ensure that the Invigilator in your 

examination hall also puts his signatures with date on the OMR Response Sheet at 

the space provided. 

2. On the OMR Response Sheet student’s particulars are to be filled in by blue/black 

ball pen also. Use blue/black ball pen for writing the Enrolment No. and 

Examination Centre Code as well as for blackening the circle bearing the correct 

answer number against the serial number of the question. 

3. Do not make any stray remarks on this sheet. 

4. Write correct information in numerical digits in Enrolment No. and Examination 

Centre Code Columns. The corresponding circle should be dark enough and should 

be filled in completely. 

5. Each question is followed by four probable answers which are numbered (1), (2), (3) 

and (4). You should select and show only one answer to each question considered by 

you as the most appropriate or the correct answer. Select the most appropriate 

answer. Then by using blue/black ball pen, blacken the circle bearing the correct 

answer number against the serial number of the question. If you find that answer 

to any question is none of the four alternatives given under the question, you 

should darken the circle with ‘0’. 

6. No credit will be given if more than one answer is given for one question. Therefore, 

you should select the most appropriate answer. 

7. You should not spend too much time on one question. If you find any particular 

question difficult, leave it and go to the next. If you have time left after answering 

all the questions, you may go back to the unanswered question. 

8. There is no negative marking for wrong answers. 
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1. From the following statements, identify the most appropriate description of  

“Science” :  

(1) Science is a specialised human activity.  

(2) Science is a sum of Mathematics, Physics, Chemistry and Biology. 

(3) Science provides the means to increase agricultural and industrial  

production. 

(4) Science is an organised body of knowledge which arises from an attempt to 

understand nature and use that understanding to satisfy our needs and 

curiosity.  

2. Which among the following incidents shows that scientific developments are 

influenced by the prevailing social thought ?  

(1) Aryabhatta’s development of astronomy 

(2) Treatment of diseases by Charaka  

(3) Galileo’s persecution by Church  

(4) Copernican theory of a heliocentric universe 

3. ........... technique belongs only to stone age. 

(1) Pottery (2) Tanning 

(3) Use of stone tools (4) Weaving 
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4. Who among the following was not shunned socially for adhering to a scientific 

approach ? 

(1) Charaka  

(2) Isaac Newton 

(3) Galileo Galilei  

(4) Giordano Bruno 

5. ............. scientific development led to industrial revolution. 

(1) Making of logarithmic tables  

(2) Discovery of blood circulation 

(3) Mechanical clocks  

(4) Use of steam powered engine 

6. The phrase ‘economy of scale’ is characterised by .............. 

(1) The less you produce, the more is the cost of production 

(2) You can increase profits by producing more goods 

(3) To decrease the input costs, you must aim for less production 

(4) Inputs to production system should be equal to the outputs 

7. In vacuum, different kinds of electromagnetic radiation have same ........... 

(1) Energy (2) Frequency 

(3) Speed (4) Wavelength 
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8. Radiowaves can give a view of the invisible universe because they ............ 

(1) have more energy  

(2) travel very fast 

(3) can propagate through dust clouds in space 

(4) can be detected easily 

9. Who among the following observed and recorded planetary motions for many  

years ? 

(1) Tycho Brahe (2) Kepler  

(3) Ptolemy (4) Copernicus 

10. Life originated on the earth about ............. years ago. 

(1) 4 billion (2) 3.5 millon 

(3) 4 million (4) 3.5 billion 

11. Who proposed the hypothesis that ‘Life begets life’ ? 

(1) Louis Pasteur (2) Oparin  

(3) Haldane (4) Miller 

12. Production of ADH increases the absorption of water in the .......... 

(1) Liver  (2) Kidney 

(3) Stomach (4) Intestine 
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13. Fossils of Homo sapiens suggest that modern human arose in .............. . 

(1) Asia (2) India 

(3) Africa (4) Europe 

14. Solar energy enters living systems mainly through ............... . 

(1) Consumers (2) Omnivores 

(3) Producers (4) Decomposers 

15. Energy flow is a ................... 

(1) One-way process (2) Two-way process 

(3) Cyclic process (4) Random process 

16. Which one of the following is not an inert gas ? 

(1) Argon (2) Helium 

(3) Krypton (4) Carbon dioxide 

17. Diverse forms of life are found, where ................ . 

(1) Temperature is very high  

(2) There is no rain 

(3) Temperature is – 40°C  

(4) Plenty of rain and high temperatrue 
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18. Shifting cultivation is popular mainly in .................. . 

(1) Hilly areas (2) Plains 

(3) Desert areas (4) Coastal areas 

19. ............ causes acid rains. 

(1) Sound pollution (2) Deforestation  

(3) Water pollution (4) Air pollution 

20. The underground water resources are called : 

(1) Ponds (2) Dams 

(3) Aquifers (4) Lakes 

21. ......... is used for generating atomic energy. 

(1) Copper (2) Aluminium 

(3) Uranium (4) Gold 

22. ........... is the first nuclear reactor in India. 

(1) Sriharikota (2) Kalpakkam 

(3) Pokhran (4) Mahabaleshwar 

23. Rabi crops are sown between ................ months. 

(1) December to April (2) August to October 

(3) October to March (4) March to September 
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24. Activated carbon or bone charcoal is used for decolourising ............. . 

(1) Sugar (2) Oil 

(3) Salt (4) Leather 

25. The technique of transmitting light waves through thin glass wires is known as : 

(1) Microwave (2) Fibre optics 

(3) LASER (4) Fibre glass 

26. Carrots, sweet potato, tomato and eggs are rich sources of ............. . 

(1) Vitamin C (2) Vitamin K 

(3) Vitamin B1 (4) Vitamin A 

27. Government of India enterprise involved in space research is : 

(1) ONGC (2) CDRI 

(3) ISRO (4) INSA 

28. Deficieny of ............... causes Rickets. 

(1) Vitamin D (2) Vitamin A 

(3) Vitamin C (4) Vitamin K 

29. Serpasil drug is given to treat ............... . 

(1) Diabetes (2) High blood pressure 

(3) Cancer (4) Goitre 
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30. Which one of the following is an input device ? 

(1) Monitor (2) Speaker 

(3) Mic (4) Printer 

31. Constellation is : 

(1) Dust cluster (2) Cluster 

(3) Group of stars in a pattern (4) Group of galaxies 

32. Self-reliance is a state of action that promotes ............ in oneself. 

(1) Fear (2) Indecisiveness 

(3) Diffidence (4) Independence and Confidence 

33. The waste materials that remain in an unchanged form for long time are referred to 

as : 

(1) Persistent pollutants (2) Biodegradable pollutants 

(3) Non-persistent pollutants (4) Both (2) and (3) 

34. The unit ‘decibel’ is used to measure : 

(1) Wind velocity (2) Noise 

(3) Water purity (4) Air quality 

35. Which of the following is a major characteristic of IndusValley Civilization ? 

(1) Town planning (2) Knowledge of geometry 

(3) Transport facilities (4) Both (1) and (2) 
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36. Find the correct order of layers of earth starting from outer to inner : 

(1) Core, Mantle, Crust  

(2) Mantle, Core, Crust 

(3) Crust, Mantle, Core  

(4) Crust, Core, Mantle 

37. Renewable resources are : 

(1) Inexhaustible (2) Exhaustible 

(3) Both (1) and (2) (4) None of these 

38. Which one of the following is a part of atmospheric life ? 

(1) Zooplanktons (2) Orchids 

(3) Microbes (4) Phytoplanktons 

39. Who gave the theory of evolution of species ? 

(1) Kant (2) Lamarck 

(3) Charles Darwin (4) Hargovind Khorana 

40. Find the missing component in the given food chain : 

Grass   .........   Frog   Snake   Peacock 

(1) Rabbit (2) Goat 

(3) Grasshopper (4) Earthworm 
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41. Match the following : 

(a) Mars (i) Bright planet 

(b) Mercury (ii) Red planet 

(c) Venus (iii) Ringed planet 

(d) Saturn (iv) Nearest planet to sun 

Codes : 

 (a) (b) (c) (d) 

(1) (i) (ii) (iii) (iv) 

(2) (ii) (iv) (i) (iii) 

(3) (ii) (iii) (iv) (i) 

(4) (iv) (i) (iii) (ii) 

42. Palaeobotany deals with : 

(1) Plant taxonomy  

(2) Plant physiology 

(3) Fossil plants  

(4) Plant anatomy 

43. Which of the following is not a natural resource ? 

(1) Ocean (2) Desert 

(3) Forest (4) Biogas 
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44. Choose the correct pair causing acid rains : 

(1) CO2 and Carbon monoxide  

(2) Sulphur dioxide and CO2 

(3) Sulphur dioxide and Nitrogen oxide  

(4) Nitorgen oxide and Oxygen 

45. Carbon-14 isotope is used to determine ......... of fossils. 

(1) Width (2) Age 

(3) Length (4) Diameter 

46. Full form of LASER is : 

(1) Light Amplification by Stimulated Emission of Radiation 

(2) Light Aptitude by Stimulated Emission of Radiation 

(3) Light Amplification by Stimulated Effect of Radiation 

(4) Light Applied by Stimulated Emission of Radiation 

47. A P-N junction functions as .............. . 

(1) Bidirectional switch (2) Controlled switch 

(3) Unidirectional switch (4) Semiconductor 

48. Which one of the following is specific and not affected by practice ? 

(1) Natural reflex (2) Learned reflex 

(3) Cognitive learning (4) Instinctive behaviour 



FST–01 ( 13 )   

49. For the first time in India .......... industry was established in the year 1950 at 

Ahmedabad. 

(1) Diamond (2) Leather 

(3) Textile (4) Cargo 

50. The ancient book ‘Siddhanta-Shiromani’ is famous for : 

(1) Biological Sciences (2) Mathematical and Astronomical Sciences 

(3) Ayurveda (4) Chemical Sciences 

51. According to Kepler’s law the planets revolve around the sun in .......... path. 

(1) Circular (2) Elliptical  

(3) Spherical (4) Ovoid 

52. Which radiation is used to measure the rise in temperature ? 

(1) Infrared (2) Ultraviolet 

(3) Gamma (4) Microwaves 

53. Identify the third planet from the sun, in an increasing distance : 

(1) Mars (2) Jupiter 

(3) Mercury (4) Earth 

54. Which one of the following institutes was established by Jamsedji Tata ? 

(1) IICT, Hyderabad (2) IISC, Bengaluru 

(3) IIT, Delhi (4) IIM, Mumbai 
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55. Which one of the following techniques is used to produce new varieties without 

seeds ? 

(1) Hybridisation  

(2) Polymerase chain reaction 

(3) Plant tissue culture  

(4) Animal tissue culture 

56. Choose the correct option with regard to energy yield : 

(1) 6 g of fat : 54 calories of heat  

(2) 4 g of proteins : 50 calories of heat 

(3) 3 g each fats and proteins : 100 calories of heat  

(4) 8 g of carbohydrates : 40 calories of heat 

57. Vaccination is : 

(1) Natural Immunisation  

(2) Innate immunity 

(3) Artificial immunisation  

(4) Both (2) and (3) 

58. “Simple reflexes” are : 

(1) Voluntary  

(2) Learnt but not inherited 

(3) Forgotten very easily   

(4) Inherited and not learnt 
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59. ‘Ergonomics’ refers to : 

(1) Study of economic growth  

(2) Efficiency of a person in his workplace 

(3) Efficiency of a mechanical motor 

(4) Study of financial status of a society 

60. .......... is the component of a nuclear reactor, that contains the fuel and generates 

heat required. 

(1) Core (2) Moderator 

(3) Absorber (4) Coolant 

61. Ozone layer is present in : 

(1) Lithosphere (2) Stratosphere 

(3) Troposphere (4) Mesosphere 

62. The method of desalination of sea water is being used in India at : 

(1) Churu in Rajasthan  

(2) Trivandrum in Kerala 

(3) Visakhapatnam in Andhra Pradesh  

(4) Panaji in Goa 

63. The ‘Scientific Society of Aligarh’ was founded in the year 1864 by : 

(1) Liyaqat Ali  

(2) Mohammad Ali 

(3) Syyed Ahmed Khan  

(4) Ahmed Shah 



FST–01 ( 16 )   

64. Which one of the following famous books was written by Kautilya on Statecraft ? 

(1) Panchatantra  

(2) Arthashastra 

(3) Bhavasara  

(4) Yoga Prakasa 

65. Science and technology can be advanced by : 

(1) Spending more funds  

(2) The efforts of scientists alone 

(3) Focusing on science and technology  

(4) Involving political, social, economical and scientific temper  

66. A robot is : 

(1) capable of processing huge data.  

(2) find cure to diseases. 

(3) can be programmed to do multitask. 

(4) capable of doing all human activities. 

67. A rocket is a spacecraft which : 

(1) returns offer relasing payload into space. 

(2) carries a payload only into space. 

(3) rotates around any heavenly body. 

(4) carries artificial satellites into earth orbit. 
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68. A nuclear reactor is used for : 

(1) Amplifying electricity  

(2) Conversion of DC to AC 

(3) Converting heat energy into electrial energy 

(4) Converting chemical energy into heat 

69. To achieve technological self-reliance we must : 

(1) Invest and create our own technology 

(2) Reduce imports 

(3) Increase exports  

(4) Purchase technology 

70. Automation of industry leads to : 

(1) Less investment, more jobs and poor quality. 

(2) Better quality, more jobs and more revenue. 

(3) Better quality and lesser jobs. 

(4) Poor quality, less revenue and more jobs. 

71. Which one of the following is NOT a mass communication ? 

(1) Presidential address in a public gathering 

(2) Flash-Mob to campaign for vaccination 

(3) Telephonic conversation regarding elections 

(4) Newspaper adverstisement to enhance the sales 
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72. Which one of the following should be the major characteristic feature of 

communication media ? 

(1) Openmindedness (2) Rigidness 

(3) Prejudice (4) Financial target 

73. Information along the axon is transferred in the form of ............. . 

(1) Chemical substances  

(2) Neurotransmitters 

(3) Electrochemical impulses  

(4) Sonic waves 

74. Shelterbelts used to minimise soil erosion are made of : 

(1) Sand  

(2) Concrete 

(3) Sand and cement  

(4) One or more rows of trees 

75. Which region of India is popular for Pashmina wool ? 

(1) Ladakh  

(2) Siliguri 

(3) Kochi  

(4) Kullu Manali 
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76. Sugarbeet can be cultivated in ............. soil. 

(1) Sandy  

(2) Sandy loam and heavy clayey 

(3) Clayey  

(4) Black 

77. Sickness caused due to infection indicates an increase in ............... . 

(1) RBC (2) Platelets 

(3) WBC (4) Body weight 

78. Which one of the following is responsible for whooping cough ? 

(1) Virus (2) Fungi 

(3) Protozoa (4) Bacteria 

79. Which branch of  science contributed in developing Insulin ? 

(1) Mathematics (2) Chemistry 

(3) Biotechnology (4) Computer Science 

80. Invention of ................ led to industrial  revolution. 

(1) Telephone (2) Steam engine 

(3) Printer (4) Clock 
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81. Supplementation with .......... mineral can benefit an individual suffering from 

anemia. 

(1) Zinc (2) Copper 

(3) Iodine (4) Iron 

82. Which one of the following  is correct in connection with ‘Change of seasons on 

earth’ ? 

(1) Earth revolution  

(2) Tilt of earth’s axis of rotation 

(3) Earth’s distance from sun  

(4) Position of earth in solar system 

83. America was discovered by ........... in 1492. 

(1) Vasco de Gama  

(2) Ferdinand 

(3) Columbus  

(4) Sunjong 

84. Which one of the following involves transition from childhood to adulthood ? 

(1) Menopause  

(2) Adolescence 

(3) Adulthood stability  

(4) Hormonal balance 



FST–01 ( 21 )   

85. The major objective of Council for Scientific and Industrial Research (CSIR) was : 

(1) To facilitate the transfer of technology from lab to field 

(2) To facilitate the transfer of technology from rural to urban  

(3) To facilitate financial support to industries 

(4) To facilitate scientists’ training 

86. ................. is the most accepted theory of origin of Universe. 

(1) Cosmic theory  

(2) Big-Bang theory 

(3) Far-apart theory  

(4) Steady state theory 

87. Measuring a person’s I. Q. is measuring : 

(1) Resilience  

(2) Creativity 

(3) Intelligence  

(4) Hardworking potential 

88. Which one of the following is a natural fibre ? 

(1) Silk  

(2) Nylon 

(3) Rayon  

(4) Polyester 
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89. Which one of the following pairs is a rich source of proteins ? 

(1) Potato and Tomato  

(2) Pulses and Soybean 

(3) Rice and Raagi  

(4) Maize and Wheat 

90. Water level of a sea rises and falls : 

(1) Twice a day  

(2) Twice a week 

(3) Once a day  

(4) Multiple times a day 

91. Speed of light in one second is : 

(1) 3 × 105 km  

(2) 2 × 105 km 

(3) 1.5 × 105 km  

(4) 6 × 105 km 

92. Which one of the following Vedic texts describes surgery  ? 

(1) Bhavasara  

(2) Yogaratnakara 

(3) Sushruta  

(4) Charak 
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93. Chipko Andolan was a movement for conservation of : 

(1) Birds  

(2) Trees 

(3) Wildlife  

(4) Tigers 

94. A computer program refers to a set of ............ . 

(1) Instructions  

(2) Programs 

(3) Information  

(4) Both (1) and (2) 

95. ONGC, a Government of India enterprise is responsible for exploration of ............. . 

(1) Oil and Natural gas  

(2) Gold and Coal 

(3) Mica and Copper  

(4) Iron and Steel 

96. Artificial demands for goods are created by : 

(1) Heavy rains  

(2) Advertising 

(3) Hoardings  

(4) Excess import 
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97. Inductive and deductive methods are used to frame : 

(1) Hypothesis  

(2) Observations 

(3) Objectives  

(4) Research questions 

98. Identify the correct pair of inert gases : 

(1) Oxygen and Helium  

(2) Argon and Helium 

(3) Argon and Oxygen  

(4) Hydrogen and Helium 

99. Which one of the following is correct regarding BMR ? 

(i) Male > Female  

(ii) Infant > Adolescent 

(iii) Cold climate > Hot climate 

Codes : 

(1) (i) and (ii) (2) All of these 

(3) (ii) and (iii) (4) (i) only 

100. Long, needle-like leaves are characteristics of : 

(1) Hot forests  

(2) Cold forests 

(3) Humid forests  

(4) Arid forests 
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   ,Q- ,l- Vh--01 

Lukrd mikf/k dk;ZØe ¼ch- Mh- ih-½ 

l=kar ijh{kk] twu] 2024 

foKku ,oa izkS|ksfxdh eas vk/kkj ikB~;Øe 

 

le; : 3 rhu ?k.Vs    vf/kdre vad : 100 

 

 

lkekU; funsZ’k 

1. lHkh iz'u vfuok;Z gSaA izR;sd iz'u 1 vad dk gSA 

2. ijh{kk d{k ds vanj lsyQksu] dSydqysVlZ] iqLrdsa] LykbM&:Yl] uksVcqDl ;k fyf[kr uksV~l] bR;kfn ys 

tkus dh vuqefr ugha gSA 

3. vkidks ijh{kk LFky ij dsanz O;oLFkkid o fujh{kd ds }kjk fn, x;s funsZ’kksa dk vuqikyu djuk gksxkA 

,slk u djus ij vkidks v;ksX; ?kksf”kr fd;k tk,xkA 

4. dksbZ ijh{kkFkhZ udy djrs ;k djkrs gq, idM+k tkrk gS rks mls v;ksX; ?kksf”kr dj fn;k tk,xkA 

5. vkidks fujh{kd }kjk iz’ui= rFkk vks- ,e- vkj- mŸkj i=d iznku fd;k tk,xkA ijh{kk lekIr gks tkus 

ds i’pkr~] ijh{kk d{k NksM+us ls igys vks- ,e- vkj- mŸkj i=d dks fujh{kd dks lkSai nsaA fdlh ijh{kkFkhZ 

}kjk ,slk u djus ij mls v;ksX; ?kksf”kr dj fn;k tk,xk rFkk fo’ofo|ky; mlds f[kykQ vkxs 

dk;Zokgh dj ldrk gSA 

6. lHkh jQ dk;Z iz’ui= ij gh djuk gS] fdlh vU; dkxt ij ughaA LØSi isij dh vuqefr ugha gSA mŸkj 

nsrs le; vki mŸkj&iqfLrdk esa gh gkf’k;s dk iz;ksx dj ldrs gSa] dqN fu’kku yxk ldrs gSa ;k js[kkafdr 

dj ldrs gSaA 

7. fo’ofo|ky; dks ;g vf/kdkj gS fd fdlh ijh{kkFkhZ }kjk vuqfpr O;ogkj ;k vuqfpr lk/kuksa dk iz;ksx 

djus ij mlds ifj.kke dks jí dj nsA fo’ofo|ky; dks Hkh pkfg, fd og lHkh ijh{kkfFkZ;ksa ds vadksa dh 

tk¡p ,dleku :i ls djsA ;fn dgha ls ,slk fn[kkbZ nsrk gS fd vkidk fu”iknu mfpr ugha gS] rks 

fo’ofo|ky; vkids ifj.kke jí dj ldrk gSA 
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vks- ,e- vkj- mŸkj&i=d ¼ijh{kk mŸkj i=d½ ij lwpuk dSls Hkjsa 

1. 9 vadksa esa viuk iw.kZ vuqØekad fy[ksaA ;g vuqØekad vks- ,e- vkj- mŸkj i=d ij vkids }kjk Mkys x, 

vuqØekad ls feyuk pkfg,A fn, x, LFkku esa viuk lgh uke] irk Hkh fiu dksM lfgr fyf[k,A vks- ,e- 

vkj- mŸkj i=d ij frfFk lfgr vius gLrk{kj dhft,A ;g lqfuf’pr dj ysa fd vkids ijh{kk d{k esa 

fujh{kd us Hkh nh xbZ txg ij frfFk lfgr vks- ,e- vkj- mŸkj i=d ij gLrk{kj dj fn, gaSA 

2. vks- ,e- vkj- mŸkj i=d ij ijh{kkFkhZ dk fooj.k uhys@dkys cky isu }kjk Hkjk tkuk pkfg,A vuqØekad 

o ijh{kk dsanz dwV fy[kus o lkFk gh iz’u ds Øekad ds lkeus lgh mŸkj&la[;k okys xksys dks dkyk djus 

ds fy, Hkh uhys@dkys cky isu dk iz;ksx djsaA 

 3. bl i=d ij dksbZ vokafNr fu’kku u yxk;saA 

4. vuqØekad rFkk ijh{kk dsanz dwV LraHk esa lgh lwpuk vadksa esa fy[ksaA laxr xksys dks iw.kZr% xgjk djsa rFkk 

iw.kZ :i ls HkjsaA 

5. izR;sd iz’u ds pkj laHkkfor mŸkj gSa ftUgsa ¼1½] ¼2½] ¼3½ o ¼4½ }kjk n’kkZ;k x;k gSA vkidks buesa ls 

lokZf/kd mfpr mŸkj dks pqudj n’kkZuk gSA lokZf/kd mfpr mŸkj dks pqudj uhys@dkys cky isu ls iz’u 

ds Øekad ds lkeus lgh mŸkj okys xksys dks dkyk djsaA ;fn vkidks yxs fd iz’u ds uhps fn, gq, pkj 

fodYiksa esa ls dksbZ lgh ugha gS] vki xksys dks ^0* lfgr dkyk djsaA 

6. ,d ls vf/kd mŸkj gksus ij dksbZ vad ugha  feysxkA blfy, lokZf/kd mfpr mŸkj dks gh pqusaA 

7. ,d iz’u ij vf/kd le; er [kpZ dhft,A ;fn vkidks dksbZ iz’u dfBu yx jgk gks] rks mls NksM+dj 

vxys iz’u dks gy djus dk iz;kl dhft,A ckn esa le; cpus ij ml NksM+s gq, iz’u dk mŸkj ns ldrs 

gSaA 

8. xyr mŸkjksa gsrq dksbZ _.kkRed vadu ugha gksxkA 
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